I%E4: ETE e HEER
] = Al oAl OB B4 | FE#HE BEtHE 1
ERET
1EHIT
AT T8 m3 144 14.0
FEHEA T8 m3 15.1 15.0
BRiAB T T FHt m3 153.3 150.0
BREREE T T FHt m3 64.1 64.0
AL
WAL (FEEL) RFETAAH: REEH L=2.1km m3 196.2 190.0
BRiLLFT
EEERT B m2 62.6 62.0
EEERI i m2 85.0 85.0
FEET
BET
HEEL—F B m2 62.6 62.0
HBET R B Ss 4 m2 85.0 85.0
T
EEET
RYE T® m3 465 46.0
EBR t# D m3 30.7 30.0
EEEIE m2 224 220
Joy BT
HeEar s —r@D H=350 m 16.0 16.0




TE4: BT EHE R {EER
T Z Al # B RO® B | HEHE | REHE =

B 91)—h2 H=300 m 137 13.0 |L=3.2+10.5
JayHEI® H=50mF 1:0.5 H=0.88~4.15m F1JH=3.262m m2 58.2 58.0
7Oy EIQ@ H=3.0mIUTF 1:0.5 H=2.00~3.00m F1#JH=2.434m m2 285 28.0
TayIEIQ H=2.0mUTF 1:0.4 H=1.14~1.63m F#H=1.410m m2 45 4.0
EARAT RC-40 m3 32.0 32.0
Kifaro)—rD B=559 =100 m 17.1 17.0
Xifar41)—r2 B=503 =100 m 10.8 100
Xigar4)—r@ B=808 =100 m 32 30

FEIH—T
HEID)—+ ER L=15m THE H=1.325m £l 1.0 1.0

HEktEEY

EEET
RYE T m3 3.7 3.0
EHER t# D m3 0.2 0.2
EEEIE m2 12.1 12.0

fET
PU-180fEI;E T W=33ke/{& m 28.0 28.0

Sk
EkHT 500 X 500 x 700 #&HiRE EFT 1.0 1.0

EET




TE4: BT E 4 BT R
I # 3 B RO By | HEHE | HEHE 1
EET 90° E HP ¢ 200 m 20 20
BT
PU-2407-Ti# W=60kg/{& m 9.4 9.0
WET VY )—rET PU-240F8 0.6m/f8 W=20.4kg/{E 1 5.0 5.0
V))-HEEE
a9 )—hhR t=12cm BEEH m2 60.8 60.0
BT B4Y5viv—32 RC-30 t=15cm m2 62.1 62.0
BRER s ES ZfH D10 2 1.0 1.0
JOy)iRIEIE AR AL
a2 9')—hkhi t=10cm m2 9.3 9.0
BT BEYSvIvrI2 RC-30 t=10cm m2 9.3 9.0
RE BATHETRIY t=3cm A% m2 46 4.0
BT BEYSvI I RC-30 t=10cm A5 m2 4.6 4.0
FhEEM T
FhEEM T
H—FL—JL Gr-C-4E m 235 23.0
BEYRET
BEYRET
U I8 - BB SR E KEFa U —k 18 1.3 1.0
BEYRELT
av 9! —hERL AR D) —k H m3 4.0 4.0
SHEhRERIEL FAI7ILE t=5cm m2 121 12.0




TE4: BT EHE R {EER
T Z Al # B RO® B | HEHE | REHE
SRR L) BT FAI7ILE t=5cm m 9.9 9.0
SR BT av41)—hk t=5~10cm m 21.4 21.0
EiRs T
Eign s Y —bk L=15.2km m3 1.3 1.0
|V —k L=13.8km m3 4.0 4.0
FAI7ILk L=10.2km m3 0.6 06 |£
FHBRER
REE

XBFEEE XBFEEB A 23.0 23.0




ERLTIT&ER

A Bt REER EARTL
Al y T8 T8 T WEET =
m3 m3 m2 m2
fEHIT 14.4
FEIHEA! 15.1
BAELT 153.3
BRARELT 64.1
EEER Bt 62.6
YL & 85.0
HET HEE—h 62.6
HET YL 85.0
B 29.5 217.4 147.6 147.6




% B fEHIT

#EHIT
A = B BEm) | @R (m2) |FETEEm2) K FEm3) &

NO.0-14 - 0.0 - -
NO.0 1.40 14 0.70 1.0
NO.0+11.7 11.70 0.2 0.80 94
NO.1 8.30 0.1 0.15 1.2
NO.1+4.5 450 0.0 0.05 0.2
NO.1+11.8 7.30 0.7 0.35 26

& 33.2 144




& W RYEA
FrEniEH
A = 28 Bt (m) EiE (m2) [FIEEEmM2)] K #&(m3) L]

NO.0-1.4 — 07 — —
NO.0 1.40 07 0.70 1.0
NO.0+11.7 11.70 09 0.80 9.4
NO.1 8.30 0.1 0.50 4.2
NO.1+2.0 4.50 0.1 0.10 05

= 25.9 15.1




ERTTHEHESE
£ M BRELXT
BRELT
Al = 25 B(m) EE (m2) [FE¥EEEmM2] & FEmI) i
NO.0-1.4 — 00 - -
NO.0 1.40 00 0.00 00
NO.0+11.7 11.70 2.9 1.45 17.0
NO.1 8.30 2.9 2.90 24.1
NO.1+4.5 450 28 2.85 12.8
NO.1+11.8 7.30 00 1.40 10.2
i 33.2 64.1




& W BRAELT
BAELT
B R BE Bf(m) miE (m2) [FHREEm2) & FEmI) i

NO.0-14 — 0.0 — —
NO.0 1.40 0.0 0.00 0.0
NO.0+11.7 11.70 5.8 2.90 33.9
NO.1 8.30 5.5 5.65 46.9
NO.1+4.5 4.50 10.2 7.85 35.3
NO.1+11.8 7.30 0.0 5.10 37.2

s 33.2 153.3




£ W EEERI ROV #EEV—H

FEBEVEEGES

EEEM(RL)
B R BE Bf(m) £ (m) TR E(m) & #&(m2) 1

NO.0-1.4 — 0.0 — -
NO.0 1.40 0.0 0.00 0.0
NO.0+11.7 11.70 2.2 1.10 12.9
NO.1 8.30 2.0 2.10 17.4
NO.1+4.5 450 47 3.35 15.1
NO.1+11.8 7.30 0.0 2.35 17.2

& 33.2 62.6




FEBEVEEGES

% ¥ EZEEBERI RY fEETYS
REER (Y1)
Al = 5 B(m) £E (m) FHRE(m) M #&(m2) i

NO.0-1.4 — 24 — -
NO.0 1.40 24 2.40 34
NO.0+11.7 11.70 45 345 404
NO.1 8.30 26 3.55 29.5
NO.1+2. 0 450 26 2.60 117

= 25.9 85.0




3
Gl
)
nzllﬁl
I

ORI ERETMET

HA R B Al i Hl B+ R+ | B
ELaE
B+ T
EEIT= 295 m3
PREREE + T= 64.1 m3
iR+ T= 153.3 m3
EELT
(BEKT)
RIE (£ 8)= 3.7 m3
#R D = 0.2 m3
(PEEET)
PRIE (£ 8)= 46.5 m3
#R D = 30.7 m3
EEIEE = 79.7 m3
BrEE = 248.3 m3
HLaE
TEBMBEK (L) /09= 275.9 m3
BLIMEBITEEE = -196.2 | m3

BIUNETENTAFTRILEL-OWMALELD,

WAL = 196.2 | m3




BT £i%

B Al B A = H 2 B #E
JOoyyET

1:0.5 |H=50mLAF [NO. 0 + 114 ~ NO. 73 582 m2 | 1.05

1:05 |H=3.0mLLF |NO. 0 NO. 114 285 m2 | 1:.05

1:04 |H=20mLLF [NO. 1 + 8.6 ~ NO. 11.8 45 m2 | 1:.04
Xima 91—k B=559 NO. 0 + 114 NO. 73 171 m
Xiwaro)—k B=503 NO. 0 NO. 114 108 | m
Xiwaroy)—k B=808 NO. 1 + 8.6 ~ NO. 11.8 32| m
E#aro)—k H=350 NO. 0 + 114 ~ NO. 73 160 m
E#aro)—k H=300 NO. 1 + 8.6 ~ NO. 11.8 32| m
NO. 0 NO. 114 105 m
ast 13.7] m
<GREaVH—LI> NO. 0 - 1.3 ~ NO. 15 m
avy)—k 18-8-40BB 04 m3
—RE R B 22 m2

RC-40

ERERA t=20cm 0.6 m2
EmEF 0.6 m2




JOvOBRIANRE
B B JaOysEI H=50mUT

Jawvs: 1.05 1 HKHy
X 5 H= 0.88~4.15 m
L= 1595 m
R IR = = B =
7”"?};@% (0.34+0.51)/2%(3.24+3.29)/2+(7.45+7.25)/2%(3.29+4.53) /2
= em +(2.22+1.50)/2%4 53+(3.03+3.40)/2%(4.53+3.13)/2
+(4.02+3.29)/2%(3.13+0.87)/2 58175 m2
s 58.2 m2
JOov iEFEYE H=| 58.175/15.95/1.118+0.10 3.362 m
350%350%350 10m2&-UDELRHKE V=81.6{E/10m2
fRA &) —k 10m2E=YDEAKE V=22m3/10m2
18-8-40BB
V=2.2%1/10xJ Ov O i@ iE
=22%1/10 * 58.175 128 m3
EiAHars)—k 10m2&4-YDEARE=E V=1.5m3/10m2
t=15cm
18-8-40BB V=1.5%1/10«J Oy o mia
=15%* 1/10 * 58.175 8.7 m3
EAHBAEEE [(0.34+0.51)/2%(2.42+2.45)/2+(7.45+7.25)/2%(2.45+3.69)/2
(EEmEE) +(2.22+1.50)/2%3.69+(3.03+3.40)/2%(3.69+2.51) /2
+(4.02+3.29)/2%(2.51+0.50)/2 45.930 m2
EADBRAEENYS H=| 45.930/15.95 2880 m
(BE®)
XA V=EIARA T MEETER
RC-40
V=(0.335+0.623)/2%2.880%15.95 220 m3
B th#t A=FEHT 0y HTEE*1.118%0.50
ISRFAL t=10mm
A=3.362%1.118%0.50 1.9 m2
KikE/NA4T HY
0% HH B AE 44 HY
Kiga 91—k B=559| L=17.06 171 m
HiEa o) —k L=15.95 16.0 m

H=350




3 = =
Oy B IARE
8 Al: JAayYFEI H=50mETF
Jovyy: 1.05 1 KHY
X 7 H= 0.88~415 m
L= 15.95 m
X & R A §
D
Xigary)—+F
B=550 18-8-40BB
ol
S
®WJOowvY ($#Ez35cm)
A1) —F
BEHI =gVt KEEAATOTS g |
WHBFIEA 3004300450 & <
@3. Om2 & NS
EAHaryy—+ g o 1u|g
18-8-40BB > & 8 7
. g IR
B
(N
3
:g
o
(sp]
BELHEER /
EBaUSY—F (HI50)
H=5. OmBLF (1:0.5)
K4 1)— k (B=559) 17060
7450 2220 3030 4020
340
= = =
= v171.55 V.55 o V16730 o,
2l - o T
S| = vi70.44 o o S -
(=2 (e=]
- =
(=] [=] cc\,;
S S ! Sls
- \ - 22 8 | | g8ss &g V168,28
8 g3 8 | 8 28 I IR = e
38% -3 3R Lol | TR 82
s » < @ Sralh 8
I — T S — Cil——— = A
000 o L) Lzz:mJ lm w{%
v167. 89 v167.76 v167.76 V167. 69 S
v167.68
51
7250 390 1500 [720) 3400 3290
HEEaLHU—F (H350)  L=15950




IRy TINERE

B B JaOysEI H=30mUT

JAavy: 1.05 1 KKy
X 4 =  200~300 m
= 1046 m
R R g = #® 2
J0vJtEmia (10.78+10.46)/2%(2.12+3.24)/2
%2 35cm
28.462 m?2
[50) 285 m2
JOvoiETFE H=| 28.462/10.46/1.118+0.10 2534 m
350%350%350 10m2Y-YDEKRE=E V=81.6{E/10m2
fRA &) —k 10m2Y7=UDEKXHKE V=2.2m3/10m2
18-8-40BB
V=2.2%1/10xJ Ov O iE@EiE
=22 % 1/10 * 28.462 6.3 m3
EAHars)—k 10m2&4-YDELRE=E V=1.0m3/10m2
t=10cm
18-8-40BB V=1.0%1/10%J Oy o mia
=1.0* 1/10 * 28.462 28 m3
EAHBRRIEEE (10.78+10.46)/2x(1.60+2.42)/2
(EEmERE)
21.346 m2
EADRBAEENYS H=| 21.346/10.46 2041 m
(Em)
EARA V=2 AR EHmEE TR
RC-40
V=(0.335+0.539)/2%2.041%10.46 9.3 m3
B th#t A=FEHT 0y HTEE*1.118%0.45
ISRFAL t=10mm
A=2.534x1.118%0.45 1.3 m2
KiREINAT HY
0% HH [ LE A4 HY
Ximar9')—k B=503| L=10.78 108 m
HiEa o) —k L=10.46 105 m

H=300




JOvOBRIANRE
B B JaOysEI H=30mUT

JOvy: 1.05 1 KXHY
X 49 H= 2.00~300 m
L= 10.46 m
[i7] i &
D

503
Ximavy)—+k
B=503 18-8-40BB

SJ
®JIOvYy (#2x350m)
g |3
RRAHIVY Y—F & b
18-8-40BB £ E;[E i
KikE/4 T 75 & 8 g
EAHavsY—F WA 3004300450 | L
18-8-40BB @3. om2 *}"}‘ e
#| 3
8
T
L]
=
o
HBEaY )—F (H300)
H=3.OmLLF (1:0.5)
FHEIVH)—+T
1180 Kif3a >4 1)— bk (B=503) L[=10780
10780
OO. <
& o T
S 2 2
v169. 90 =
Vv 168. 20
o
S =
~N —IR o =3 S o
o =P S ol &
g = 2 g0 g R
N o e = = d
ol T
S ax
3
V168. 20 §
10460
1500 HEQ 91—k (H300)  1=10460




JRvOEINRE

B B JaOysEIL H=20mlT

Javs: 1.04 1 ®KHy
X 4 =  1.140~1.680 m
= 3.22 m
R R g = #H 2
J0vJtEmia 3.22%(1.12+1.70)/2
%2 35cm
4540 m?2
5 0) 45 m2
JOyOEFHE H=| (1.14+1.68)/2 1410 m
350%350%350 10m2&-UDELRHKE V=81.6{E/10m2
fRA &) —k 10m2&=UDEKXKE V=2.2m3/10m2
18-8-40BB
V=2.2%1/10xJ OvH @i
=22 % 1/10 * 4540 10 m3
EAHars)—k 10m2&4-UDEARE=E V=1.0m3/10m2
t=10cm
18-8-40BB V=1.0%1/10%xJ Oy o mia
=1.0* 1/10 * 4540 05 m3
EAHBRRIEEE 3.22%(0.00+1.09)/2
(EEmERE)
1.755 m2
EADBHEFHSE H=| 1.755/3.22 0545 m
(Em)
EARA V=2 AR S mEE TR
RC-40
V=(0.333+0.388),/2%0.545%3.22 0.7 m3
B t#h 4t A=75L
ISRFAL t=10mm
A=75L L
KiREINAT HY
0% HH [ LE 44 HY
Xiga4')—~ B=808| L=3.22 32 m
Higar o) —k L=3.22 32 m

H=300




JOvOBRIANRE
B B JaOvysEI H=20mlT

Javs: 1.04 1 ®KHy
X 7 H= 1.140~1.680 m
L= 3.22 m
X m| i &
808 FiEavyy— b
B=808 18-8-40BB
e KigE sS4 T 75
AQ 0%t B Ik 4 300%300%50
- @3. Om2
EARE ) o
—
T I T
RES T
- Bt S |
ZAHars)—+k Bt § o
18-8-40BB v _,__{ i Bt
. . = [N
AAsHa>ro)— o S
18-8-40BB ‘o «@
BEITIER
HE#Ea>2 o1 )—k (H300)
XKiga s 1)— k (B=808)
3220
oo
© -
<o +
X . V174.06
=) s/
v172. 83 V113. 67 o
S =
§ / v172.87 S S o
g os € - iy T 2 grh €
SN~ T W
i So R —. @ i
= o T
d QL T E%; 1E~§AOV
= [sp) aX 1=2¢ 8
o
g 2 S
S i
15
V172.68
3220

HEHEa 27 )— b+ (H300)




S
e
—+
i
L

M Al RiFaro—k B=559 10 mYY)
#H #: t=10cm
B [
W B=559 18-8-40BB
(a»])
o
/‘
o
o
RS = BN 23 n =
avo)—k
0.559%0.10%10.0

18-8-40BB

m3 0.559
BB

—fi% 0.10%1.118%2%10.0

m2 2.236

B #th 44
0.559%0.10

ISRXAA+ t=10

m2 0.056




S
e
—+
i
L

M Al Xigaro—k B=503 10 mYY)
#H #: t=10cm
B
Xigaro)—+k
m B=503 18-8-40BB
Y <> 1
(e»)
/ —
o
o
RS = BN 23 0=
avo)—k
0.503%0.10%10.0
18-8-40BB
m3 0.503
BB
—fi% 0.10%1.118%2x10.0
m2 2.236
B th#t
0.503%0.10
ISRXAA+ t=10
m2 0.050




HEFTEE
M Bl Xigaro—k B=808 10 mYY)
#H #: t=10cm
B [
808 Xigaro)—+hk
B=808 18-8-40BB
ol
o
-~
()
>
AT TR = BN 23 0=
avo)—k
0.8080.10%10.0
18-8-40BB
m3 0.808
B
—fi% 0.10%1.077x2%10.0
m2 2.154
H th#+
ISRZA+ t=10
m2 7L




S
e
—+
i
L

Mmool E#EarsU—k 10 mYY)
3] #: H=35cm
B
450 100
avyl)—+k ’
18-8-40BB
3
8,7 (ap]
r o
s -
EBRE $
RC-40 0‘ 550 0
750
AT TR = BN 23 0=
avo)—k
(0.10%0.35+(0.10+0.35)*1,/2%0.45)%10.0
18-8-40BB
m3 1.363
BB
—h% (0.10+0.35)%10.0
m2 4.500]
H th#+
0.10%0.35+(0.10+0.35)%1,/2%0.45
ISRAAA+ =10
m2 0.136
HEEERa
RC-40 0.75%10.0
t=20cm
m2 7.500}
HEEIE
0.75%10.0
m2 7.500}




S
e
—+
i
L

HooR: Epgaroy—k 10mZY
3 #: H=30cm
B
00
avyl)—Fk
18-8-40BB
()
ol S
o
K ()
e A 8
HigwrR
RC-40 l
O‘ 520 0
720
RS = BN 23 ® e
avo)—k
(0.10%0.30+(0.10+0.30)*1,/2%0.42)*10.0
18-8-40BB
m3 1.140]|
BB
—h% (0.10+0.30)%10.0
m2 4.000]
B #th 44
0.10%0.30+(0.10+0.30)*1,/2%0.42
ISRAAA+ =10
m2 0.114
HEEERa
RC-40 0.72%10.0
t=20cm
m2 7.200]
HEMEEIF
0.72%10.0
m2 7.200]




S
e
—+
i
L

oA FAEBIVHY)—FI (1 Ky )

W%
15 m3Hy
B |
50 1180
(9p)
o —_
=< =
- < v168.20 2 2
. o
o o 2
BRERBEEE —\ \& 8
- ) IE o
o gH g 2
avy)—+Fk © B & 3
—R— - () —
18-8-40BB 0 g § pred >
HEEA
RC-40 315/ 100
' 1500
415
F 105
A TR = BN ® 7 0=
IEmETE A= 1.45%1.50%1,/2+0.60%1.50
m2 1.988
I H= 1.988/1.50
m 1.325
av91)—k (0.05+0.315)%1/2%1.325%1.50
18-8-40BB m3 0.363
— R B (1.45%1.50%1/2+0.60%1.50)*1.118
m2 2222
HEEERa 0.415%1.50
RC-40 t=20cm
m2 0.623
HEmEEIE 0.415%1.50
m2 0.623




EELTTHER

RiEY BERL
oA RO T T®D =
m3 m3
<HKk#EEYMI>
PU-2401-T& 3.7 0.2
<PEBETI >
JOvyoiEL 46.5 30.7




EXLT HEFHEE

M oA EExXT
RO
PU-240 -Ti&
L= 94 m
10m&f=Y PRYE
BER
&Ly (94
737

1R

1240
500 240 500
45 45
]
| o
| A W 5
| [«))
e/ oA S
=
300 | 330 | 300
930
v=( 010 * 124 + 029 * 09 ) * 100 = 3.937
V= 029 *x 030 *x 2 = 0.174
m&f=Y )
V= 3.937 * 0.1 * 94 = 3.7
V= 0.174 *x 0.1 * 94 = 0.2

m3

m3

m3

m3




EELIHEHES

& W KRR JayyELT
PRYE
A = BE Bf(m) miE (m2) [FHREEm2) & FEmI) # F
NO.0-1.4 — 1.1 — — NO.0Z i H
NO.0 1.40 1.1 1.10 1.5
NO.0+11.7 11.70 1.6 1.35 15.8
NO.1 8.30 15 1.55 12.9
NO.1+4.5 450 15 1.50 6.8
NO.1+11.8 7.30 1.1 1.30 9.5
& 33.2 46.5




EELIHEHES

2 e E#BR JayyELT
HR D
B R BE Bf(m) miE (m2) [FHREEm2) & FEmI) # F

NO.0-1.4 — 0.7 - - NO.0%EH A
NO.0 1.40 0.7 0.70 1.0
NO.0+11.7 11.70 1.1 0.90 105
NO.1 8.30 1.0 1.05 8.7
NO.1+4.5 450 0.9 0.95 43
NO.1+11.8 7.30 038 0.85 6.2

& 33.2 30.7




BET &£itx

51 Mt A = B} s [
PU-180f8I:ZT  |PU-180 NO. 0 14 ~ NO. 1.3 28.0 33ke/{E
PU-240f-Ti&  |PU-240 NO. 1 11.8 94 60ke/{E
av9)—bE&E PC1-B240  |NO. 1 11.8 5.0 | {8 20.4ke/{E




S
e
—+
i
L

#  RBI:PU-180fI;ET 10 m3Ay
3 ¥ PU-180
R |
100, 250
/ HEpa o) — hUK
39 180 39 PU-180( 1 %&) 33kg/{E
MsEsHary)—Fk
18-8-0BB -
A=0.01m2 ® §
N | ‘ 2 o
JOyv O EH %%% S
it
190 ‘ %@3%%)1/9)1/
29 ARRE
305 RC-40
AL ks = =S B L 0=
$kEra> ) —kURZ [10.0/0.605
PU-180
L=600 33kg/{A 1@ 10/0.605
sEsHharo—k 0.01%10.00
18-8-40BB
m3 0.100]
H it 0.01%1
IS5RZAF t=10mm
m?2 0.010|
R (0.255+0.305)*1/2%10.00
RC-40 t=10cm
m?2 2.800|
HEEEBIF 0.255%10.00
m?2 2.550]




HEHEE
# Bl PU-240f=Ti& 10 my
3 ¥ PU-240
R
1240
500 240 500
= ‘78’7 8” 4EBE 45 45 #mas s — UK
—6- PU-240 (V4 v k) (178)
S
S
N
AT IR = BN B n =
ka2 —kURZ [10.0/0.605
PU-240 (V4 t)
L=600 60kg/{& & 16.529]
avol)—k 0.50%0.10%2%10.0
18-8-40BB
m3 1.000]
HLER 0.10%4%10.0
m2 4.000|
HEEIF 0.155%2%10.00
m2 3.100|




MIRE

pil] FRAIKEE TR K ER & %k (4~ Fir)
&k #t T 500%500%700
No. 1 + 73 PU4AIE PU-180 BEERIE B 400/200 1.0
PU{EIE PU-240




M OBk 1 ®EfrHY
3 #&: 500 x 500 x 700
b7 T fHEwTE
800 800
150 500 150 150 500 150
fasliRE t=2. 3mm 20
600 x 600 ‘f—»] 1=Ti# PU-240
V167. 68 : j
VEESREIES 7 )
3 20200 g
J@ 800 sL
900
PU-180 B3RS t=2. 3m
\T@T eooﬁxbé_oot
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60.8 X 0.12=7.29

7.29 m3
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44 m2
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B = BE Bf(m) & (m) 5 0&(m) & #&(m2) bl

NO.0 — 2.00 — -
NO.0+11.7 11.70 2.00 2.000 23.40
NO.1 8.30 2.00 2.000 16.60
NO.1+4.5 450 2.00 2.000 9.00
NO.1+11.8 11.80 0.00 1.000 11.80

& 36.30 60.80
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B = BE Bf(m) & (m) 5 0&(m) & #&(m2) bl
NO.0 — 2.00 — -
NO.0+11.7 11.70 2.05 2.025 23.69
NO.1 8.30 2.05 2.050 17.00
NO.1+4.5 450 2.05 2.050 9.20
NO.1+11.8 11.80 0.00 1.030 12.20
& 36.30 62.09
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143 kg
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0.60m/{8 W=33kg/{& 330 m
1815 kg
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#Ear o) —k ZREGEHETXY 1.3 m3
|G )—k aV9)—FEELT #SEHEELY 0.8 m3
HEBET £iHERKY 2.7 m3
EREMYVELRERELY 0.5 m3
&5t 40 m3
FAI7ILE WEEET £itRLY 0.6 m3
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NO.0+11.7 11.70 0.06 0.030 0.35

NO.1 8.30 0.05 0.060 050

NO.1+4.5 450 001 0.030 0.10

NO.1+11.8 7.30 0.10 0.060 0.40
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i 31.80 135 | 1.4m2
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